




a) 85 > 95
b) 918 < 981
c) 549 = 594
d) 298 > 298

1. Which of the following is true?



a) 354
b) 875
c) 598
d) 905

2. Which number has a 5 in the   
hundreds place? 



a) 78
b) 780
c) 708
d) 807

3. Which numeral shows the number   
seven hundred eight?



a) 300 + 70 + 4
b) 100 + 100 + 100 + 70 + 4
c) Three hundred seventy four
d) 3 hundreds 70 tens and 4 ones

4. Kusum wrote the number  374 in   
four ways. Which is  incorrect ?



a) 400 + 10 + 6.
b) 100 + 40 + 6.
c) 600 + 40 + 6.
d) 100 + 60 + 4.

5. A day on planet Mercury is 416 hours  
long. Choose the right expanded form   
of this number.. 



a) 750
b) 754
c) 652
d) 752

6. I have 7- hundred rupee notes, 1- fifty 
rupee note and 2 - two rupee coins. Choose 
the correct standard form of the total money 
that  I have.



a) 9670
b) 6970
c) 7069
d) 9076

7. On interchanging the digits in the hundreds    
and ones place of the number 6079, the   
number becomes _________.



a) 9650
b) 9505
c) 9550
d) 5169

8. Which number is 100 less than the     
greatest number you can make if you 
use the digits 5,0,6,9 exactly once?
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